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Exam 1
Chapter 1, 2 and 3.1-3.5
(without 3.4)

Multiple Choice

Answer the following multiple choice questions. Each question is worth 6 points. You may circle
between 1 and 3 answers on each question. Circling 1 and getting the correct answer is worth G
points. Circling 2 and getting the correct answer is worth 3 points. Circling 3 and getting the
correct answer is worth I point.

1. The expression T,}\/= can be simplified in which of the following ways?
- VI

(a) ﬁ,—; () 2.1')'2/5
(&) £
2. Which of the following is the derivative of sin f cos#?
0s” + — sin? 1 (b) —sintcost
(c] sintcost (d) 1
3. Find lim,, 4 52¢Z,
() o0 (b)JL/2
(c) —o0 (d) 0

4. On which interval does the equation tanzr = 22 — 1 have a solution?
(a) (=7/2, ~7 /4] - 7/4,0]
(c) [0,7/4] (d) [n/4,7/2)

5. Find liny o £ tan(8t).
’gﬁuﬂk FfOE em . () o0 Mo gy‘ﬂ‘t{i 66
4 W8 (im b Ao (%)
oL

6. Which of the following is the derivative of gy

(El) tana/z-Inrsec? x lnaxsec? r—tana/o
In(x)~ ) In(J')-
A fanc/r=Inzseet x Inzsec r—tanr/z
—_ye e T
((’) In{x<) (d) la{z=}

7. Find the point (or points) where the function f(z) = #%+ 622 - 362+ 100 has horizontal tangent
lines.

(o) o= =2 (b) there are no horizontal tangent lines

@ r=—0and r=2 (d)z=-2andr=2
8. Suppose ¢ is an angle in the 3™ or 4" quadrant such that tan ¢ = V3. What is (7

(a) 3
by
T

) ;
(e) ]

i

‘-J‘.!‘n'
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Short Answer

Answer the following questions. You must show your work to_reccive full credit. Be sure to make
reasonable simplifications. Indieate your final auswer with a .

1. (8 points) Find all asymptotes of the function f(r) = ?%;)

e 2G000) 1 2(xe)
'p( ) S (X"?)(X"l) S (x_7) \,\_)LQH X ?/ /

“I” ) NTD0

. 1 ‘o — i .
["'Of‘l?o’iéﬂ(M' (>: -p(x) < E(\M ‘C(X)f < [\/.;__ZS:)

\/Qf{“ﬁal AG\/MP{O‘(:E‘g: (IT p(x): R% no asymp{ane a{' X= {
X7

[im L)oo lim £B)2-00 (x = 7)

x27° x27"

. . kb . .
2. (4 points) Use any method to find liny, ’—f--h—‘: Give at least one sentence of explanation.
{Yes! That means words.)

. xh
)(;}ng Q_;’_G__K (< e d?m[,‘n A, o o\ﬁ te 0{&"‘/11["\,4
O’F e)(. T}*Q.W&éf.e

1 x+h

(t/Vl € - - X
pm EmE = et
W20
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3. (10 points) Find %, where

. . cos.x
y=ax - 5eT 4 lne 4+ Gsin -

Ay

T = (melx" = G <, ;{g + beosx 1—_—7'—9}\)(\

4. (10 points} Find the tangent line to the function g{r) = Gcos(x) at the point 7 = 7/2.

5'(x) = = b¢inx

M; V= 9'(’%}6« T ) +9(ﬂ/z)
= “‘6(x-—"‘/z) +O
- ~bx t3T
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5. (10 points) For what values of a is the function

2 ;
(%)W asr = 2u =2
T 12 r<?2

continuous at every 7/
C(U/(\{ I (5() l\S (oW NS o A (_"Jo,?)

0\/\.4 (Z,oO)_
O/\(Y to- need fo Check at x=7 Se

i )=l @20 = 2022 % T (o)

x=71* x2%

(im k)= (im (2x = ’ZL{-

X=2° X7

So 2Y=la-l)
H_Za\(a-{) - ai'a\

Olﬂ7-a”2 = (ﬂ""f)(wr?)) Azl or -
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. . 2
6. Consider the function h(x) = %’—I—IQ‘I—

(a) (5 points) For what values of  is h discontimous?

(b) (5 points) Create the function H which is a LO!ItlIlllOllS extension of / at all points where this
is possible. X(X ¥ §

(a) ()= x(x+5)-2) = T xiL e XZ2
- (x+72) (x=2) O‘ISCanlL.‘ang q'{’ X'—'lZL

((D) Agymlo{o‘(e q‘(‘ >(p-2 ?eg‘{—Cz?l

Muous €y ‘E'\glo.l’f
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Bonus Question

1. (8 points) Use the € — & definition of limits to show that f(x) =+ — 2 is continuous at = = 3.
' —
let ¢50. Tapprre e expzd‘ lim £6)=77
X3

gc) S'MPPOSQ_ ’ 'C(K) __714£

(< x-q¢f
9-¢ < x“< ¢ 4q
Jo ¢ <X < Jees
Je 3¢ x-3 < g -3
Let §= mea(Ja - 30 -3).
Thn £or Ix30<S oe hwve  1£60-7[4€
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